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PRECIOUS BLOGD SCHOOL

MOCK EXAM

Answer ALL the questions in the spaces provided.

'FOR EXAMINER’S USE ONLY.

Question Maximum score Candidate’s Score
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Answer AL® the guestions in the spaces provided.

1. Identify the part of light nﬁ‘%rc-smpe which serve each of the functions described below.
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¥ 2. State three adaptations of halophytes to their habitat. (3 marks)
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Some students set up the following experiment to investigate a cerlain process. Glucose
solution was boiled and then cooled before addition of yeast suspension.
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) Which process was being investigated? ( 1 mark)
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b) Why was the glucose solution first boiled and then cooled? .
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¢) What was the purpose of 'glﬁldin'g the oil? {1 mark)
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4. State one struc@m&ag)&adiﬂcmmn of stomata found in xerophytes. ( 1 mark)
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3. §;§~{wo adaptations of a guard cell to its function. {2 marks)
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6. Name any one kingdom whose members are useful in the cycling of matter in an ecosystem.
( 1 mark)

a) Give a reason why some protease enzymes are secreted in an inactive form. (1 mark)

-]

b) Why are proteins described as being amphoteric? - (1 mark)

¢) What is the role of iodine in the human body? ( 1 mark)

8. Explain why not all the energy from one trophic level is available to the next level. (Zmarks)

9. Name two mechanisms that prevent seifpﬂ!hnatmn in flowers that have both male and
female parts. (2 marks)
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10. a) Where in the humang&d}' is the relay neuron located? { 1 mark)
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b) Etateo:ge Thetion of acetylcholine. { 1 mark)
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le‘i@i}\ What is meant by the following terms:- (2 marks)
& J
<& .}\ (i) Genetic counselling
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Qi\e\ ' (ii}  Artificial selection
b) Name two genes in man that show incomplete dominance. (2 marks)

A leaf of a potted plant which had been kept in the dark for 24 hours was smeared with
white petroleum jelly on its lower surface and exposed to sunlight for 6 hours. Starch test
on the leaf was negative. Account for this observation, : ( 3 marks)
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I3. The diagram below shows a cell undergoing cell division. Study it and answer the
questions that follow,
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Centricle pair
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(i) Identify the type of cedfiivision. ( 1 mark}
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(ii) Give ao{e.asgfh for your answer, ( 1 mark’
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& @Name the stage of cell division represented by the diagram above. { 1 mark)
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L 14, State three biological importance of tropic responses in plants. (3 marks)

15. In an experiment, a variety of garden peas having a smooth coat were crossed with a
variety having wrinkled seed coat. All the seeds obtained in F1 generation had a smr 2th
seed coat, the F1 generation was selfed. The total number in F2 generation was 7324.

(i) Using appropriate letters work out the genotypes of F2 generation.

(it} Caleulate the number of plants in F2 generation that are

(a) Smooth seeded

(b) Wrinkled seeded
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(2 marks)

b} Name the structures labelled M, N, O. . . .[1 marks)

M

N

0

17. Name two types of skeletons found in animals. {2'mérk5)

18. The f}gure below shows a transverse section of a monocot stern, Study it and answer the
questions that follow. '

a) Name parts A and B, ' : (2 marks)
A
- B
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b} State the function ot",i&brt labelled A. (1 mark)
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19, State one %’1 t of the Lamark theory of evolution. (2 marks)
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a) Identify the cells M and N. (2 marlks)
M —_
N
b) State the structural difference between M and N. (2 marks)
¢} Which of the above specialized cells is found in the gut. ( 1 mark)
21. State the function of the following cell organelles. (2 marks)

a) Centrioles

b) Mitochondrion

78

Ti ps on passi ng KCSE subscribe freely @http://ww. j oshuaari m . com
Support thru' M pesa 07205024blueeleannect Wi th Joshua Arim on facebook. Not 4 resale.



=)

&
¥
22. Give two functions of bloodys a tissue, (2 5]
ok {(Zmarks)
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23. taie@y{\% catures of a corolla that enhances insect pollination (2 marks
1. {4 marks)
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24. State the role of each of the following enzymes in the body, - (2 maris}
a) Catalase
b) Carbonic anhydrase
L T o ~ o S H ] . L H
25. Name the causative organism of the following diseases. (2 marks)

a) Malaria

by Bilharzia
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26, The experiment 11‘L1=L11.c%bﬁmh was set up to investigate a certain physiological processes
using a fresh petato tubgf®
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N a) Suggest a possible physiological process that was being investigated { 1 marl)
h) Explain the results obtained in the above experiment after few hours {Zmarks)
c) State the observations that would have been made if the experiment was repeated using
boiled potato. (Zmarks)
27. State the functions of the following parts of the human ear (2marks)
a) Ossicles
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b) Utriculus d
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28. Name the @:&éalized cells that are involved in the uptake of mineral salts by plants from the
; AR i
soil. \6@\\ ( 1 mark)
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